T B 106 —
= " —
3
= - 81 6
8 ]
= B 80 |
A .
f |
| — L .
M
= | o
(.}
I
! |
|
4
— - 3*
25* _ =
Al4:1) w
mok
b Hanpabaswuee
pedpo dopodku
\ b-b6(4:1)
g
'§ [onobka
2 \ bopodka K/KYa
= T \ KAKYa
(¥p)
.§ © Vo) - [lnacmuHa
> S
=
& 1
=
=
g - é; 12 1*.Pasmepsi dnsi cnpabok.
R B 55 5 B ( 5.1 } Z2.Heyka3saHHsle paduycel ckpyeneHuu 0,2 MM.
S 16
5 - —
'§ Aum. | Macca | Macwmad
= WMl lucm|  N° dokym. [lodn. |Aama
Paspad. Koy 2:1
< 5 [lpaé.
S T. KoHmp. /lucm [ fucmos 1
< Hay.omd.
T H. koHmp. /lamyHe
= Ymé.
2 1 KonupoBan ®opmam A3




